indicator ( ’

shorttitle= , overlay=false)

bool includeThirdCrypto = input (true, title=
string thirdCryptoSymbol = input ( , title=
bool includeFourthCrypto = input (false, title=

string fourthCryptoSymbol = input ( , title=

twentyOneDays 21
dailyDrawdownThreshold

request.security( , , close)
= request.security( . , close)

includeThirdCrypto ? request.security(thirdCryptoSymbol,

fourthCryptoPrice = includeFourthCrypto
request.security (fourthCryptoSymbol,

btcSevenDayChange = (btcPrice - request.security( ; ;
close[sevenDays])) / request.security( , , close[sevenDays]) * 100
ethSevenDayChange = (ethPrice - request.security( , ,
close[sevenDays])) / request.security( , , close[sevenDays]) * 100
btcFourteenDayChange = (btcPrice - request.security ( ; ;
close[fourteenDays])) / request.security( , , close[fourteenDays])
# 100

ethFourteenDayChange = (ethPrice - request.security( ; ;
close[fourteenDays])) / request.security( 7 , close[fourteenDays])
* 100

btcTwentyOneDayChange = (btcPrice - request.security(

close[twentyOneDays])) / request.security ( ,

close[twentyOneDays]) * 100

ethTwentyOneDayChange = (ethPrice - request.security (

close[twentyOneDays])) / request.security ( ,

close[twentyOneDays]) * 100




thirdCryptoSevenDayChange = includeThirdCrypto ? (thirdCryptoPrice -
request.security (thirdCryptoSymbol, , close[sevenDays])) /
request.security (thirdCryptoSymbol, , close[sevenDays]) * 100 : na
thirdCryptoFourteenDayChange = includeThirdCrypto ? (thirdCryptoPrice -
request.security (thirdCryptoSymbol, , close[fourteenDays])) /
request.security (thirdCryptoSymbol, , close[fourteenDays]) * 100 : na
thirdCryptoTwentyOneDayChange = includeThirdCrypto ? (thirdCryptoPrice -
st.security(thirdCryptoSymbol, , close[twentyOneDays])) /
request.security (thirdCryptoSymbol, , close[twentyOneDays]) * 100 : na
fourthCryptoSevenDayChange = includeFourthCrypto ? (fourthCryptoPrice -
request.security (fourthCryptoSymbol, , close[sevenDays])) /
request.security (fourthCryptoSymbol, , close[sevenDays]) * 100 : na

)
D

fourthCryptoFourteenDayChange = includeFourthCrypto (fourthCryptoPrice -
request.security (fourthCryptoSymbol, , close[fourteenDays])) /
request.security (fourthCryptoSymbol, , close[fourteenDays]) * 100 : na
fourthCryptoTwentyOneDayChange = includeFourthCrypto ? (fourthCryptoPrice -
request.security (fourthCryptoSymbol, , Cclose[twentyOneDays])) /

request.security (fourthCryptoSymbol, , close[twentyOneDays]) * 100

btcDailyChange = (btcPrice - btcPrice[l]) / btcPrice[l] * 100
ethDailyChange = (ethPrice - ethPrice[l]) / ethPrice[l] * 100
thirdCryptoDailyChange = includeThirdCrypto ? (thirdCryptoPrice -
thirdCryptoPrice[l]) / thirdCryptoPrice[l] * 100 : na

D

fourthCryptoDailyChange = includeFourthCrypto (fourthCryptoPrice -

fourthCryptoPrice[l]) / fourthCryptoPrice[l] * 100 : na

btcAverage = (btcSevenDayChange + btcFourteenDayChange +
btcTwentyOneDayChange) / 3
ethAverage = (ethSevenDayChange + ethFourteenDayChange +
ethTwentyOneDayChange) / 3

thirdCryptoAverage = includeThirdCrypto ? (thirdCryptoSevenDayChange +

thirdCryptoFourteenDayChange + thirdCryptoTwentyOneDayChange) / 3 : na
fourthCryptoAverage = includeFourthCrypto ? (fourthCryptoSevenDayChange +
fourthCryptoFourteenDayChange + fourthCryptoTwentyOneDayChange) / 3

var label buylLabel = na
var string lastCrypto =
var float highestAvg = na

string currentCrypto

color currentColor =




string labelText =
float currentCryptoDailyChange =

color.orange

if ethAverage > highestAvg
highestAvg := ethAverage
currentCrypto :=
currentColor := color.rgb (0, 255, 8)
includeThirdCrypto and thirdCryptoAverage > highestAvg
highestAvg := thirdCryptoAverage
currentCrypto := thirdCryptoSymbol
currentColor := color.rgb (44, 65, 254)
includeFourthCrypto and fourthCryptoAverage > highestAvg
highestAvg := fourthCryptoAverage
currentCrypto := fourthCryptoSymbol

currentColor := color.purple

currentCryptoDailyChange := currentCrypto == ? btcDailyChange
currentCrypto == ? ethDailyChange : currentCrypto == thirdCryptoSymbol
? thirdCryptoDailyChange : fourthCryptoDailyChange

if currentCryptoDailyChange <= dailyDrawdownThreshold or highestAvg < 0
currentCrypto :=
currentColor := color.rgb (254, 0, 0)
labelText

else

labelText + currentCrypto + +

str.tostring (btcAverage, ) + + str.tostring(ethAverage,
) + (includeThirdCrypto ? + thirdCryptoSymbol + +

str.tostring (thirdCryptoAverage, ) ) + (includeFourthCrypto ?

+ fourthCryptoSymbol + + str.tostring(fourthCryptoAverage, )

if na(buyLabel) or lastCrypto != currentCrypto
if not na(buyLabel)
label.delete (buyLabel)
buylLabel := label.new(bar index, highestAvg, labelText,

color=currentColor, textcolor=color.rgb(0, 0, 0),

style=label.style label down, size=size.small)

lastCrypto := currentCrypto




plot (highestAvg, color=currentColor, title=

linewidth=4, style=plo

hline (0, , color=c«




